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There are 6 (six) questions. Answer all of them. The symbols have their usual meanings. Marks of

each question and corresponding CO and PO are writien in the brackets. Assume reasonable value for

any missing data. Questions do not have equal mark distribution. The MRP sheer is provided
rately.

1. @) Company "X is looking to produce a small collection of 4 wristwatches (Analog,

digital, smart, and Swiss). Meanwhile, company “Y" is going forward with their plan ‘2“):
10 assemble and manufacture a Bocing 737 passenger turbojet o
Identify the he Mention their (POT)
relative advantages and disadvaniages over each other.

) DS i 8 manfucuring plan tht procices omatvecorponcns. The pla has
been long lead tim . and inconsistent
quality. To address these issues i improve the overal efficiency, the management
decided to implement lean manufacturing techniques, which includes introduction of o

iberate_employee _participation events, a visual signal system for parts (0
replenishment and maintaining a clean and organized environment. *o1)
From the above scenario, identify and explain the distinct lean manufacturing
techniques.

Alif Shorforaz, an HR representative of a renowned paper company is looking to hire
some security, warehouse, and distribution van personnels for the next fiscal year. So,
he.in cllaboration wilh s manager employed some job anabis merhods for (€

systematic study of job data for these posts. (Pg::
Briefly explain the job analysis methods that Alif may have undertaken.

2. #) A business industry procures items at C pricefunit to meet an annual demand of D
units. The orders are of equal size and are placed at periodical intervals £. The items
against an order are not provided instantaneously due to shortage of stock. Instead, it
is assumed that the order will be in
period 17 is 01 and the maximum stockout accrued in period ¢z is Oz. If the ordering
costlorder is C., the carrying cost/unit/year is Ce, and the shortage cost/unitperiod is (123~
Cy then derive an expression for the optimum order quantity that minimizes the fofal (c‘é)z)
inventory cost. Fon

Carlo industrial and enterprise Itd. estimates that they will sell 10,000 units of their
product for the forthcoming year 2025. The ordering cost is $ 300 per order and the
carrying cost per unit per year is 20% of the purchase price per unit. The purchase
price per unit s $ 20. They are also forced to deal with a shortage cost of § 25/unit
annually. Determine the optimal order quantity.
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b) An itém has yearly demand of 2000 units for XYZ company. Annual carrying
costitemyear is 20% of the item cost. The various costs corresponding 1o purchase

and manufacture inventory models are as follow
- janufacturing
5 (10)
,s?o;l &,

e

(v02)
1
Choose an appropriate :lelenmmmr inventory model for the company based on
minimum total imventory co
2) A company is planning on expanding and building a new plant in one of three
countries. Chris Ellis, the manager charged with making the daclsmn has determined
that five key success factors can be used to evaluate the prc countries. Ellis
used a rating system of | (least desirable country) to 5 Amosl d:slrible) to evaluate
each factor.
Koy S oo | Wl | Sore Qutaf 109
- - ] | Country X | Country ¥ | CountryZ et
eingonr s | ¢
| ! | oo
{ ::m:-l and Iegal mxcls | i ®oIN)
[ ]
Answer the following
i, Select the most pnlernbtwumry using Weighted-factor method.
Sudden illiteracy causes the level of education in countries X and Z to drop to
score of 2 and 3 respectively. Explain whether this drop of score changes the
conclusion of question no. i.
b) Tom’s Direct, a major TV
its. frsl outlet in Mnhnle‘ Allblml, and wants to select a su: !h|\ wﬂl place the new
in Moblle‘ plots the cnord ates of the center of each from a map, and looks up the
ulation base in each to use as a weighti formation gathered appears
the following table.
B
(43
=10)
(C03)
®o11)

Answer the following questions ~
\ v

the locations.

in a graph pi

5. The population Census Trac 104 i expsted 10 grow quickly 0 15,000, How
does this effect the center of gravity. and where should the new outlet be
located?
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4.a) A Fumniture Company manufactures tables based on Bill of Material (BOM) shown
below

: TToe |

ity

215+
Atthe present time, inventories of parts and lead times are as follows: ey
| ovbn S Lo ()
. e (veeks)
[ Assemble able «
[ Finish leg assemby | O -
i
& 4 ——— -
| Purchasetop | 40 | S0 [

According o the Master Production Scheduie (MPS), he gross requirements for
tables are 220 and 140 on the 5" and 6% week respectively.
Answer the following

i, Re-draw the BOM with low level code,

ii. Draw the time-phased product structure.

i Construct an MRP sheet

an adviser and one of the chief executives of ABC Corporation manages all
mumfncnmng fnctions of the company using  closed: loop MRP system. However,
chan,

ke Metairesh ERP, SAP ERP e, b hasdecded 0 mplement an ERP sysiem within
C Corporation. This planning system not only links *Customer chain and Supplier (10)
chain’ 1o the planning dept. but also provides real time data to monitor all the other (CO4)
depariments inluding accouning, fnrce, marketing ctc. Addionaly,tis cloud (*03)
provides day-to-day

Suggest the design of an ERP flow diagram that would integrate all the aforementioned
core departmens altogether for ABC Corporation.

at requires a total assembly/task time of 2 s using a product layout. Based
on he precedence diagram and activiyties e Houds dckcruiocs s theoare
forco

s that 45 units of the l(‘

reqt mplete a5 utpit o theassenbly lne
each day

“They now vant o group the e io workstaions
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Answer. me Jollowing -

6.a)

iii. Determine the theoretical mi

Kelisoor Gras prcocs. ¢ wide rmgs of pikieg procucs

ime | Task that must precede |

Task | Assembly
(minutes)

(54120
[
15
-20)

(€03)
(ol l)

. Draw the precedence di iy lne o 1C copiec

i, Find the blance et mimim of workstatio i
(53, bk it inoet wees, kil lompeet apeeaion e 5.

whether the determined no. of actual workstations meet the balance efficiency

of 85%.

s

m number of workstations.
line.

total idle time for the balanced

roduction

;ug: e sttt by the ollowing take: abeling the bag, loading, cleaning, and

pape

rvork. The alovancesfor teks sich st s penccl, T e, 0% nd

delay, 3%, A recent time study shows the following observatior

Element Performance
Rating (%)
(1045
= | -15)
B i it | (co4)
T (®03)
I

dnorer theollowing:

n these observations, formulate a proper standard time for the complete
printing process.
Determine the correct sampl size for the elements “Loading” and “Paperwork”.
10 be within 5% and confidence level at 95.45% (assume

Accuracy is
corresponding z-value is 2.00).

Brad Williams, the production planner at Allianz Products, needs to develop a capacity
planfor  workcene. He b theproducion ndesshown bl forthe et 6 dys

There
of hour cch.

a0

a2 3456 oy

o.dm,m. JS\D. i (po3)

chedule and comment on the s action

Prepare the new
for each day.
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